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Wire Scanner

- |[E ][
Fri Apr 13 17:35:16 |ST 2007 Help

chl ch2 select
8.00 Loo LI_S02AWSM01
6.0E-02
5.0E-03 ‘ X
start 2000
4.0E-02 stop 40 00
0.0EQD - step 2,00
2.00-02 T
Y
0.0EQD — ———————= —-
| | || -S0E-034 ‘ st [60.00
T 1 T 1
stop (Elaels)
5000 10,01 5000 10,01 MEET1:5CTOS. 18
step 2.00
003 threshold [ 70
oot | meas
i _\VE 1 shot
osition>7. 50
e : Emergency stop
no2 -0.1 linear/log
load
0.01 -nz? interval(lo. 00
. RecLen |10000.
-0.3
T T T T
-10.0 -5.0 0o 5.0 -10.0 -50 0.0 50
HPos [520.00/Range |6000.0{mean |-0.28 | HPos [500.00Range [5000 Omean |C.14
LPos [9300.0Range [1000.0{rms  |3.97 LPos |9000.0iRange |1000 Olrms 1.87
invert sigma |2.13 | invert | sigma |1.77

S02A:WSMO01:Y 60-80/0.5mm, PRETRG=0, TRGDELAY=5us, 500-6500/9000-10000

ot Wire Scanner =1ES
File Edit Acceleratar Window Fri Apr 13 18:07:16 |ST 2007 Help
chl cth2 select
8.00 1.00 LIS02AWSMO1
4.0E-02 1.0E-02 4 | I
J ‘ start  |15.00
AR S0E-03 stop |45 00
o step 0.50
0.0EDD -
meas
0OEDD |- ————— -5.0F-07 - Y
T start  |60.00
T 1 T =
5000 10,00 5,000 100 SO B0 e CTds 15
step 0.50 - =0
threshold N
.03 | I:me:las
D.0op03 WE 1 shot
asition3 7. 98
B - : Emergency stop
no2 oo linear, log
load
-0.000L interval{10.00
0.0 RecLen [L0000.
T T -0.0002 T T
-0 0.0 50 104 =50 0o 50 101
HPos [520.00/Range |5000.0{mean [0.51 HPos |500.00/Range 5000 Olmean |1.07
LPos |9200.0[Range [L0D0.0lrms  |4.03 LPos |9000.0{Range [1000 Clrms  [5.57
invert sigma |2.29 | invert | sigma [1.27




S02B:WSMO01:X 15-40/0.5mm, PRETRG=0, TRGDELAY=5us, 500-6500/9000-10000

hd Wire Scanner =Bl *
File Edit Acceleratar Window Fri Apr 13 17:45:50 |ST 2007 Help
chl cth2 select
9.00 200 LLSD2BWSMO1
4.0E-02 ‘ X
S.0E-03
start  |15.00
stop |45 00
20E-02- - —— i step 0.50
0.0E0D
[ meas | ¥ L
X jzosly |
Y ¢
AE i -5.06-03 o [ o fvoe |
start . ¢
! X t 50.00 =B =B
5000 10,01 5000 10,0 P : MERTL:SCTAS. 17
step 0.50 - -
threshold |C 20
0.025 0.0+ i N R - meas
WE 1 shot
pusitioli0.00 [
-0.1 Emergency stop
002 linear/log
load
-0.2
interval{l0. 00
BOES RecLen (10000,
-n2
T T
-10.0 0.0 100 -1p.0 -5.0 0.0 50 10.0

HPos [520.00/Range |5000.0{mean |0.98 HPos |500.00/Range 5000 Olmean |C.03
LPos [9200.0/Range [1000.0frms  [5.75 LPos |9000.0iRange |1000 Olrms 1.87

WT\ sigma |2.09 | invert | sigma |1.74

S02B:WSMO01:Y 60-85/0.5mm, PRETRG=0, TRGDELAY=5us, 500-6500/9000-10000

B Wire Scanner = |8 %
File Edit Acceleratar Window Fri Apr 13 17:52:01 |ST 2007 Help
chl cth2 select
9.00 3.00 LLSD2BWSMO1
1.0E 02 | | X
4.0E-D2 | start 15.00
stop 45 00
step 0.50
20E-D2 - T 1L e m— 0.0EDD -
meas
Y
(0800 T | 20602 st [60.00
stop G500
5000 10,01 5000 10,01 MEETL:SCTAS. 15
step 0.50
threshold |C 20
0.0+ — meas
i WE 1 shot
0025 pusitiol@
-0.1 5 Emergency stop
linear, log
L0z load
=02 intervalgl0.00
0015 ReclLen [10000.
-0.3 I
T T T T T
-5.0 0.0 50 104 50 0o 5D 101
HPos [520.00/Range |5000.0{mean |0.60 HPos |500.00/Range 5000 Olmean |74
LPos |9200.0/Range [L0D0.0lrms  |4.78 LPos |9000.0{Range [1000 Clrms 2,00
invert sigma |2.57 | invert | sigma [1.63




S03A:WSMO01:X 15-45/0.5mm, PRETRG=0, TRGDELAY=5us, 500-6500/9000-10000
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chl- ch2- select ] |
|
Latll 400 | LLSO2AWSMIL || i
4.0E-02 5.0E-03 [ |
start 15 00 |
1 OoEDD - = stop 45 10 i
Z0E-02 11 stop 050 TS5
r meas: % = ‘l
J ~5.0F-03 - = ¥ 357
u.utuu-'——'—'—"ﬂ'» | - X |
\ sare 8000 || |y |
! ! ] stap  [B5 o0 || —— —
5000 e 5,000 10.00 — | IMEBT1:5CTIS 16
step 050 | B |
Emr o | shold
ne+ [ meas ] | hee L
e WE 1 shot |
0.03 — |
tiofo.00 | ———
-1 |pus! & | | Emergency stop [
| linear/log | e
0.02 Sk —l—luadj
iintcr_vnl HES e L] _i:
001 03 [Reclen [LOOO
T T T T
—10.0  -50 0.0 30 100 -10.0  -50 0.0 50 10.0
H Pos 500,00/Range (G000 Oimean  [067 | H Pos [s00.00|Range (6000 O{mean [0 14
LPos 9200 0|gange |L000.0ffms (460 | |LPos [9000.0iRange |10000(ims  |169
| | invern sigma |2 07 || | invert | sigma 159

S03A:WSMO01:Y 60-85/0.5mm, PRETRG=0, TRGDELAY=5us, 500-6500/9000-10000

= |[= ][

Fri Apr 13 17:37:38 |ST 2007 Help
select

LILSDIAWSMO1

15.00
45 00
0.50

meas

6000

v Wire Scanner
File Edit Accelerator Window
chl ch2
10.00 5.00
4 PE-D2 ‘ ‘
3_0E_02_ PANRET i TR wem i i L
20E-02 -
2.5E-02
0.DEQD ———I—
T ! T
5000 10,01 5,000 10,01
| 0.0+ .
0.032
-0.1
ez
-0.2
0.01
-0.3
T T T T
-5.0 oo 5.0 101 -5.0 0o 5.0 101
HPos [520.00/Range |5000.0{mean [0.50 HPos |500.00|Range [6000 Olmean |C.43
LPos [9300.0Range [1000.0{rms  |3.89 LPos |9000.0iRange |1000 Olrms 1.90
invert sigma |2.66 | invert | sigma |1.73

GEL 00
0.50

meas
pusitim{0.00
linear, log

load

MEBT1:SCTO>. 14
threshold |20

WE 1 shot
Emergency stop

10,00
10000,

interval

RecLen
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b

File Edit Accelerator Window

Wire Scanner

- |[E ][
Fri Apr 13 18:00:04 |ST 2007 Help

chl ch2 select
11.00 6.00 LI_S03B:WSMO1
4.0E-02 S.0F 03 X
start 15.00
stop 45 00
AR 0.0E00 - step 050
’ meas
-5.0E-03 - Y
| start  |B0.00
6.0800 ) stop G500
5000 10,01 5000 10,01 wp 050 MEET1:5CTOS. 16
| TR T - I::I threshold |0 20
o meas
WE 1 shot
0.025 | _ | WE1shot |
asition. 00
-0 e : Emergency stop
linear, log
0.02
-2 load
0015 intervalglo. 00
-0.3 RecLen [10000.
6.01 I
T T T
-10.0 0.0 0.0 -10.0  -5.0 0.0 50 10.0
HPos [520.00/Range |5000.0{mean [0.55 HPos |500.00/Range (5000 Olmean |-0.47
LPos [9300.0Range [1000.0{rms  [5.56 LPos |9000.0iRange |1000 Olrms 1.60
invert sigma |1.73 | invert | sigma |1.49

S03B:WSMO01:Y 60-85/0.5mm, PRETRG=0, TRGDELAY=5us, 500-6500/9000-10000

[l

File Edit Accelerator Window

[Wire Scannar
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FriAnr 13 18:02:48 |ST 2007

chl- ch2- [ Select | MEET1 |
11.00 7.00 [LIs0apmsMoL || —
[ =B PR | SDTL |
40E-02 S0F-07 1 i E
|start 1500 * |
3.0E-02 0.0EDD - | stop A5 (10 Eon e
s pp-po-uudil BUR Wl | [step 050
~5.0E-03
1.0E-02 e
~1,0E-02
0.0E00 . Z
5000 10,01 5,000 1001 | IMEBT1:SCTHS 10
0. -
00255 WE1 shot |
-1 | Emergency stop [
Loz | linear/log | .
-0z loxd
0015 [inerval{lo.oo |
-0.3 RecLen [L000
15755 T T T T
-50 0.0 5.0 10 —5.0 0.0 50 101
H Pos 530,00/Range (6000 Oimean  [0.77 | H Pos [500.00|Range [5000 Ojmean  [C.01
LPos  [92000|gange |L000.0ffms (465 | |LPos [9000.0iRange |10000(ims  |156
| | invern sigma |1 54 || | invert | sigma [152




MEBT2:WSM11:X 20-45/0.5mm, PRETRG=0, TRGDELAY=0, 1000-7000/0-1000

ot Wire Scanner =1ES
File Edit Acceleratar Window Fri Apr 13 18:11:09 |ST 2007 Help
chl cth2 select
8.00 0.00 LI_MCOT2:WSM11
X
2.0E-02
ZOE_ 02 pu NG INUm | MEE NS ] S S—1 . — Stan 2000
stop 45 0N
0.0EDD - step 050
hore [ meas
-2.0E-02 ¥
-ADE-D2
start  |80.00
5,000 10,00 5,000 P T i e e
step 0.50 g
threshold |1 20
0o+ 1 meas
WE 1 shot
Dsitimi0.0l
0.04 -0.1 e | Emergency stap
linear, log
-0.2 load
0.02 interval(10.00
=03 RecLen [100CO.
181} T T T T
-5.0 0o 0 10.0 -5.0 0.0 ] 10.0
HPos [1300.0/Range |5000.0{mean |1.26 HPos |1000.0iRange 5000 Olmean |1.37
LPos (000 |Range [1000.0frms  |2.43 LPos [0.00 |Range |[10000lkms  |156
invert sigma |2.21 | invert | sigma [136

MEBT2:WSM11:Y 80-105/0.5mm, PRETRG=0, TRGDELAY=0, 1000-7000/0-1000

Ve Wire Scanner SI=1ES
File Edit Acceleratar Window Fri Apr 13 18:15:21 |ST 2007 Help
chl cth2 select
8.00 100 LI_MCOT2:WSM11
X
AOE-02 —— e — s —— LOE-02 L start  |20.00
stop 45 0N
step 0.50
i 0.0EDD -
| -1DE-D2 -— ¥
=2I=0R) start  [80.00
stop 105 00 =
5000 10,00 5,000 10,01 MEETLSCTS. 15
step 0.50
— threshold |1 20
0o+ — meas
WE 1 shot
iti {0.01
Ro5 -0.1 padabiat | Emergency stap
linear, log
-0.2 load
a0z interval(10.00
=03 RecLen [100CO.
181} T T T T
-0 -5.0 0o 50 =100 50 0.0 S50
HPos [1300.0/Range |5000.0{mean |-2.06 | HPos |1000.0(Range [5000 Of{mean |-2.03
LPos |000 |Range [L0D0.0lrms  [3.15 LPos |0.00 |Range [1000 Clrms  |1.82
invert sigma |2.96% | invert | sigma (1321




ACS01B:-WSMO01:X 20-45/0.5mm, PRETRG=0, TRGDELAY=0, 1000-7000/0-1000

B Wire Scanner = /|8 *
ke kit Accelerator Window FrLAPF 13 18:19:96 |51 2UU7  Help
chl ch2 select
09.00 2.00 LI_ACS01EWSMO1
‘ S.0F-112 X
start 20,00
stop 45,00
0.0E00 - 0.0E00 - step  [950
meas
it
-5.0E-02 start  [A0 0C
T T
5,000 10,01 5000 1p,0i Stop |105.CO
step 050
0.06 0sition0.00
psiiofp%0_|
linear/log
nng -0.2
load
"oz intervaly 10,00
Rerl pn 10000.]
-0.4
-5.0 L0 50 100 -5.0 0.0 50 10.0
HPos [1000 ({Range [5000 (imean |7 40 HPos [1000 0{Range [5000 Ofmean |7 40
LPos (0.00 |Range [1000.0wrms  [2.37 LFos [0.CO  |Range [1000.0frms  [L.27
invert sigma [2.1¢ | invert sigma |12

ACS01B:-WSMO01:Y 80-105/0.5mm, PRETRG=0, TRGDELAY=0, 1000-7000/0-1000

Ve Wire Scanner N ES
Elle kit Accelerator  Window FrLAPE 13 18:2245 |51 2007 Help
chl ch2 select
9.00 3.00 LI_ACS01BWSMO1
S0F-03 4 X
2.0E-02 start 20,00
stop 45,00
0.0E00 - 0. 0E0D - step s
meas
-20F-02? —_— v
-5.0E-02 7 start  [R0 00
5000 10,01 5000 10,01 |StOP 105.C0
step 0.50
B0 7 meas
no&
-n.1 osition0. 00
psiiofp%0_|
0.0 02 linear/log
- lnad
L9 1 -3 intervaly 10,00
Rerl pn 10000.]
-0.4
0.0 T T T t T
-10.0 -0 0.0 50 -10.0 =50 0.0 50
HPos [1000 ({Range [G000 Oimean |-0 79 HPos [1000 D{Range [6000 Ofmean |-0 13
LPos [0.00 |Range |1000.0wms  [2.7Z LFos [0.C0  |Range [L000.0irms  [L.45
invert sigma [3.0: | invert sigma |1.19




ACS02B:-WSMO01:X 15-50/0.5mm, PRETRG=0, TRGDELAY=0, 1000-7000/0-1000

v Wire Scanner
Flle  Edit Accelerator Window
chl ch2
10.00 4.00
1.0E-01 2.0E-02 - —
SRR 0.0E0D -
-2.0E-02 {——————+ - —— - —— 1
DOEOD - ——
! -4.0E-02
5000 10,01 5000 10,01
0.0+ —'7 =
0.1
-0.2
005 -
-0.4
-10.0 .0 100 -10.0 0.0 100
H Pos [1000 fl‘Range EO00 (imean 7 &% H Pos [1000 O‘Range G000 Mmean |7 51
LPos |0.00 |Range [1000.0irms  |4.3F LFos (0.C0  |Range [1000.0frms  [L.49
invert sigma [2.88 | invent sigma |L.13

=1k

FrApF 13 1%U6:4 £ J51 2004 Help

select
LI_ACS02EWSMO1
X
start 1500
stop 50,00
step  [u5U
X 2.23|¥ 1.75
meas - MY ,m
Y X [zesly [155
start 140 COJl I [zegly |35
stop 170.C0
sep  [050 MEBTLSCT(S.2+

(s

WF 1 shnt
Emergency stop

meas
positiori0.00
linear/log

load
10,00

10000.]

intervadl

Rerl en

ACS02B:-WSMO01:Y 75-105/0.5mm, PRETRG=0, TRGDELAY=0, 1000-7000/0-1000

hd Wire S5canner
Lile kit Accelerstor Window
chl ch2
10.00 5.00
‘ 2.0E-D2 i
ROF-07
0.0EDD -
-2.0E-D2 —
0.0E00 - T
1
5000 10,01 5000 10,01
e+
0.1
-n.2
005
-0.4
-10.0 =50 o.e 50 10.0 -1p.0 =50 o.e 50 1.0
HPos [1000 i{Range |[G000 Oimean |-0 §4 HPos [1000 D{Range |[6000 Ofmean |-113
LPos (0.00 |Range [1000.0rms  |4.3¢ LFos [0.C0  |Range [1000.0frms  [L.48
invert sigma [5.71 | invert sigma [L.0%

=1k

FrAPE 13 18:2448 J51 2004 Help

select
LI_ACS02EWSMO1
X
start 20,00
stop 45,00
step 0S50
meas
Tk
start 7500
stop 105%.C0
step 050

meas
positiori0.00
linear/log

load

Emergency stop

1000

10000.]

intervadl

Rerl en




ACS03B:-WSMO01:X 20-45/0.5mm, PRETRG=0, TRGDELAY=0, 1000-7000/0-1000

B Wire Scanner
Lile kit Accelerstor Window
chl ch2
1100 6.00
| I
4.0E-02 2002 |
20E- P34 — - —— o — — 0.0E00 -
0.0E00 -
-2 DE-D2
-2.DE-D2 !
5000 10,01 5000 10,01
00+ - g
no&
-0.1
004
-n.2
np2
-0.3
0.0 T T = T T
=50 g 50 100 =50 0.0 50 100
HPos [1000 i{Range [6000 Oimean |7 17 HPos [1000 0{Range [5000 Ofmean |7 00
LPos |0.00 |Range [1000.0wrms  [2.65 LFos [0.C0  |Range [1000.0frms  |L.6S
invert sigma [2.97 | invert sigma |L.47

= || B %
Fri Apr 13 18:50:1Y J51 2UU¢  Help
select

LI_ACS03BWSMO1

X

start 20,00

stop  |45.00

step  |U.50
meas

Tk

start 75O

stop 105%.C0

step 050

meas
positiori0.00
linear/log

Emergency stop

load

intervadl
Rerl en

1000

10000.]

ACS03B:-WSMO01:Y 75-105/0.5mm, PRETRG=0, TRGDELAY=0, 1000-7000/0-1000

hd Wire S5canner
kile kit Accelerator Window
chl ch2
1100 .00
20E-02 + I
20F-0N7 +———++ L iy Ll U kLl
0.0E00 - 0.0EDD -
-2.0E-02 -2.0E-02
|
5000 10,01 5000 10,01
| e+
o6
-n.1
o4
-n.2
np2
-0.3
0.0 === T T = T I T
-10.0 =50 o.e 50 10.0 -1p.0 =50 o.e 50 1.0
HPos [1000 i{Range |G000 Oimean |0 F0 HPos [1000 0fRange |B000 Ofmean |-0 54
LPos (0.00 |Range [1000.0rms  [3.31 LFos [0.CO  |Range [1000.0frms  |L.78
invert sigma [4.2¢< | invert sigma |1.24

Fr Apr 13 18:33716 |51 Zuus

select

LI_ACS03BWSMO1

- |[Em][%
Help

MEE 11

2 ACS
start 20,00
L30T
stop  |45.00 -
step  [u50 rms
meas X o Y O
X 2,14y 302
Y X [y [r1
start |75 OC x  [rovly |24
stop 105%.C0
5 10
step  [050 MEBTLSC
threshold |0 20

meas
positiori0.00
linear/log

WF 1 <hnt

Emergency stop

load

intervadl
Rerl en

1000

10000.]




L3BT:-WSMO06:X 40-70/0.5mm, PRETRG=0, TRGDELAY=0, 1000-7000/0-1000

v Wire Scanner =Jali*
Hille Edit Accelerstor Window FrApPr 13 183439 |51 20U¢  Help
chl ch2 select
7.00 0.00 LI_LIET:WSMOG
S.0E-03 X
40E-D2
start 40,00
0,000 IR el W stop  [70.0¢
20L-02 step  |U.50
-5.0E-03 - meas
0.0E0D - [P "o o T I 1
~1.06-02 J | v
| | start 140 COJ1 I [parly [4.24
T 1 T 1
5000 10,01 5000 101 [StOP L70.L0 MEBTL'scﬂS.ls
step 050 "

threshold |0 20
0.0+ - 1— meas
osition102.C0
. poatiod.c2.co
nos -1 linear/log

load
.02
-2 intervaly 10,00
.01 Rerl rn 10000.]
-50 00 50 10.0 -5.0 0.0 50 10.0
HPos [1000 ({Range [5000 (imean |1 36 HPos [1000 0{Range [5000 Ofmean |0 A0
LPos (0.00 |Range [1000.0wrms  |4.47 LFos [0.CO  |Range [1000.0frms  |L.86
invert | sigma |2.23 | invert | sigma |L.57

L3BT:-WSMO06:Y 140-170/0.5mm, PRETRG=0, TRGDELAY=0, 1000-7000/0-1000

(i ; Wite Scanner g
Eile EIL Acteleritor  Window Fil Apr 13 18:90:35 51 A7 Help
~chl- ~ch2 select " MEBTL I
7.00 100 | LI L3BT:WSMO6 | som |
4. 0E-02- I B ] LIRS
¥ x. =
5 0E-D7 - N | 4 o oc ACS
ey | |
e y i | LIOT
20E-02 L |
0.0E00 - £ ] bl stop  [70.0C
step 050 —
DOERG - e s -G.0E-05 — \ | meas | A !‘u?s
il L v ez
! I L
LOE-02+— 5
~2,0E-03 . i
start 140 00 I
' stop  |170:.C0 ey o
5000 10,01 5000 20,01 . f " a7
aep  [050 MEBTLSCT(> 07
| o+ i Emea_-‘; T threshold :’FI/II 1
—_—— WF 1 shar
s -0.1 p—osnmrt__l_uz CL-Il Emergency siop
[ tinearftog | —
-0.2 | toad |
.02 intervalg 12 0(‘,_!
=03 Rerl on [10000 {
=100 =50 o.n 50 -100  -50 0.0 3 1
[HPos 1000 HiRange |EOO0 Dimean -1 75 H fos 1000 OlRange ([GO00 Olmean -0 37
Lfos (000 [Range [1000.0vms (444 | LPes [0.00 |Range [10000ims  [LE0
invert | sigma |1.75 invert | sigma [1:09




L3BT:-WSMO08:X 40-70/0.5mm, PRETRG=0, TRGDELAY=0, 1000-7000/0-1000

B Wire Scanner
Lile kit Accelerstor Window
chl ch2
8.00 2.00
LOE 02 0.0600 L1
0.0E00 - - —— g -1.0E-02 - —— —
5000 10,01 5000 10,01
r.oF 0o+ P—
s -0.1
.04 a9
np2
. | 03 e
-50 0.0 50 10.0 =50 o.e 50 10.0
HPos [1000 ({Range [5000 (imean |1 40 HPos [1000 OfRange |B000 Ofmean |0 &3
LPos (0.00 |Range [1000.0rms  |4.68 LFos [0.C0  |Range [1000.0frms  |L.53
invert sigma [2.1¢ | invert sigma |L.42

Fr Apr 13 184436 |51 ZuUs

select
LI_L3ET:WSMOS
X
start 40,00
stop FO.0C
step  |U.50
meas
Tk
start 1400 20
stop 170.C0
step 050

meas
position102.C0
linear/log

load
10,00

10000.]

intervadl

Rerl en

- |[Em][%
Help

2.23)Y 175
2,14y 302

MEETLSC I‘S. 11

(s

WF 1 <hnt

Emergency stop

L3BT:-WSMO08:Y 140-170/0.5mm, PRETRG=0, TRGDELAY=0, 1000-7000/0-1000

hd Wire S5canner
Lile kit Accelerstor Window
chl ch2
8.00 3.00
S.0E 02 ‘
5.0E-02 0.0E00 -
-5.DE-D3 -
0.0EOO . BN LAl AR
-1.0E-02 | i
L
T 1
5000 10,01 5000 10,01
e+ — e
0.0 1
-n.1
no&
-n.2
o4
-0.2
np2
-1 =50 o.r 50 1.0 -50 0.0 50
H Pos [1000 fl‘Range G000 (imean -0 &7 H Pos [1000 O‘Range G000 Mmean (079
LPos [0.00 |Range |1000.0ms  4.87 | [LPos |0.C0  |Range [1000.0lrms  |L.44
invert sigma [2.06 | invert sigma |L.10

Fr Apr 13 184801 |51 fuus

select
LI_L3ET:WSMOS
X
start 40,00
stop FO.0C
step 0S50
meas
Tk
start 1400 20
stop 170.C0
step 050

meas
position102.C0
linear/log

load
10,00

10000.]

intervadl

Rerl en

- |[Em][%
Help

2.23)Y 175
2,14y 206

MEETLSC I‘S.OB

(s

WF 1 <hnt

Emergency stop




L3BT:-WSM10:X 40-70/0.5mm, PRETRG=0, TRGDELAY=0, 1000-7000/0-1000

Fr Apr 13 180100 |51 fuus

B Wire Scanner
Flle  Edit Accelerator Window
chl ch2 select
8.00 4.00 LI_L3ET:WSM10
1.0E-02 } i ¥
50F-02 4 start  [40.0C
DOEQD - - = stop FO.00
step |50
0.0E00 - i i 2. 0E- 02 -{TRT TR T AT I meas
¥
L
FLET -2 0E-02 ! start 140 00
T T
5000 10,01 5000 1p,0i Stop |170.CO
step 0.50
0.06 0o+ meas
01 position 102.C0
linear/log
nn4
0.2 load
intervaly 10,00
0.02 0.2 Rerl pn 10000.]
-50 0.0 5o 10.0 -5.0 0.0 50 100
HPos [1000 i{Range [6000 Oimean |1 9% HPos [1000 0{Range [5000 Ofmean |1 A7
LPos |0.00 |Range [lL000.0wms  [5.0Z LFos [0.C0  |Range [1000.0frms  [L50
invert sigma |1.80 | invent sigma [L21

- |[Em][%
Help

X 223 175
X [z14ly  fzog
X LEOY 5.7l
x 287y 4.24
MEBTJ.:SCI‘S.OT
threshold |0 21

WF 1 shnt
Emergency stop

L3BT-WSM10:Y 140-170/0.5mm, PRETRG=0, TRGDELAY=0, 1000-7000/0-1000

Fr Apr 13 185416 |51 ZUU/

B Wire Scanner
ke kit Accelerator Window
chl ch2 select
8.00 5.00 LI_L3BT:WSM10
5.0E-03 X
start 40,00
5.0E-02 porop i L b L L stop  |70.0¢
step |50
-5.0E-03 -
meas
0_ OEOO - el 1 TTRIE A % T TS | _1. OE_ 02 | Y
| start 14000
T T 1
5000 10,01 5000 1p,0i Stop |170.CO
step 0.50
0.06
position102.C0
linear/log
ro4 02
. load
intervaly10.0C
002 na Rerl pn 10000.]
-10.0 -5.0 0.0 50 100 50 0o ]
H Pos [1000 fl‘Range G000 (imean -1 11 H Pos [1000 O‘Range EOO0 Mmean |0 ER
LPos (0.00 |Range [1000.0rms  [5.21 LFos [0.C0  |Range [1000.0frms  |1.23
invert sigma |1.5% | invert sigma |0.97

- |[Em][%
Help

X 223 175
X [z14ly  fzog
X LEOY 1.55
x 287y 4.24
MEETLSCTIS. 10
threshold |0 21

WF 1 shnt
Emergency stop




L3BT:-WSM12:X 35-70/0.5mm, PRETRG=0, TRGDELAY=0, 1000-7000/0-1000

hd Wire S5canner
Lile kit Accelerstor Window
chl ch2
6.00 0.00
BOE-D2 5.0E-03
4 0E-02 0. 0EDD -ttt L
200-02 -5 0E- 05
0.OEDD ___.____'_ Lollil ik .l 1 _1.0E-02
L
T 1
5000 10,01 5000 10,01
0.0
0.06 =Bl
0.04 02
.02 =25
-10.0 o.e 10.0 -io.0 o.e 10.0
H Pos [1000 fl‘Range EO00 (imean |0 B0 H Pos [1000 O‘Range EO00 Mmean |1 40
LPos (0.00 |Range [1000.0rms  [5.29 LFos [0.C0  |Range [1000.0frms  |1.93
invert sigma |2.68 | invert sigma [1.28

=1k

Fr ApF 13 1%ULUY JS1 2004 Help

select

LI_L3BT:WSM12

X

start
stop
step

meas

Tk

start
stop
step

35.00
7000
s

1400 0
170.C0
050

meas
position102.C0
linear/log

intervadl
Rerl en

MEBTJ.:SCI‘S.OT

threshold |0 20

WF 1 shnt
Emergency stop

L3BT-WSM12:Y 140-170/0.5mm, PRETRG=0, TRGDELAY=0, 1000-7000/0-1000

b

ke kit Accelerator Window

Wire Scanner

=1k

FrAPE 13 1%U522Y JS1 2004 Help

chl ch2 select
6.00 1.00 LI_L3BT:WSM12
5.05-031 X
4. 0E-12
start  |35.00
0. 0ED 0 UL b b o] Al LY stop T
SO0 step [0S0
-5.0E-03 - meas
0.0E00 - B T v
| _1.0E-D2 | start  |140 00
T
¢ L nux 5000 10,01 5000 10,0 stop 170.C0
mww. scientificlinux, org’ step 0.50
| meas
0.08
-0.1 position102.C0
o0& linear/log
-0.2
load
0.04 i
-0.3 intervaly 10,00
Rerl pn 10000.]
0.02
-0.4
-10.0 -50 0.0 5.0 -10.0 -5.0 0.0 50
HPos [1000 i{Range |6000 (imean -0 56 | H Pos [1000 OfRange [£000 Dimean  |) 80
LPos |0.00 |Range [L000.0wrms  |4.72 LFos (0.C0  |Range [1000.0frms  [L.49
invert sigma |1.95 | invert sigma |L.00

MEBTJ.:SCI‘S.ZB

threshold |0 20

WF 1 shnt
Emergency stop




SDTL X Gaussian fit sigma

S02A S02B SO03A S03B
BLM 2.13 2.09 2.07 1.79
Wire current 1.77 1.74 1.59 1.49
SDTL Y Gaussian fit sigma

S02A S02B SO03A S03B
BLM 2.29 2.57 2.66 1.79
Wire current 1.69 1.73 1.49
AOBT X Gaussian fit sigma

MEBT?2 ACSO01B ACS02B ACS03B
BLM 2.21 2.14 2.88 2.97
Wire current 1.36 1.12 1.13 1.47
AOBT Y Gaussian fit sigma

MEBT?2 ACSO01B ACS02B ACS03B
BLM 2.96 3.02 5.71 1.78
Wire current 1.31 1.19 1.06 1.34
L3BT X Gaussian fit sigma

WSMO6 WSMO8 WSM10 WSM12
BLM 2.23 2.14 1.80 2.68
Wire current 1.57 1.42 1.21 1.28
L3BT Y Gaussian fit sigma

WSMO06 WSMO8 WSM10 WSM12
BLM 1.75 2.06 1.55 1.95
Wire current 1.09 1.10 0.97 1.00




